

Original Article



OPEN ACCESS

Outcome of Full-Thickness Skin Graft in Post-Burn Finger Contractures

Wasi Ur Rahman^{1*}, Irfan ullah¹, Muhammad Moazzam Farooq¹, Muhammad Tariq¹, Umair Ali Shah¹

¹ Burns and Plastic Surgery Centre, MTI, Hayatabad Medical Complex, Peshawar- Pakistan

Article Info

Corresponding Author

Wasi Ur Rehman
Burns and Plastic Surgery Centre,
MTI, Hayatabad Medical Complex,
Peshawar- Pakistan.
Email: wasidawar3@gmail.com

Date Received:

07th July, 2026

Date Revised:

07th September, 2026

Date Accepted:

07th September, 2026



Abstract

Objective: To determine the outcomes of full-thickness skin grafts in patients with post-burn finger contractures.

Methodology: This descriptive study from October--2025 to June-2026 was conducted at Department of Plastic surgery, Hayatabad Medical Complex. Study enrolled one hundred and twenty-nine patients aged 5 to 45 years with post-burn finger contractures. Patients with non-burn contractures, uncontrolled systemic diseases, active infection, and cognitive impairment were excluded. All the patients underwent full thickness skin graft procedure using aseptic technique. Graft take was assessed at the first dressing change on day 5 to 7. Functional outcomes were assessed at three months using range of motion and the Disabilities of the Arm, Shoulder and Hand (DASH) score. Data was analyzed using SPSS 27. Wilcoxon signed rank test was used, keeping p value ≤ 0.05 as significant.

Results: The median age of 129 patients was 24.00 years (IQR:14-34), with male patients 88 (68.2%) and 41 (31.8%) female patients. Excellent range of motion was observed in 41 (31.8%) cases, good in 45 (34.9%), fair in 28 (21.7%), and poor in 15 (11.6%) cases. Graft take was excellent in 79 (61.2%) cases, and good in 30 (23.3%) cases, The median DASH score improved significantly from preoperative to postoperative ($p < 0.001$).

Conclusion: Full thickness skin graft procedure demonstrated excellent to good range of motion in majority of the patients with post-burn finger contractures. Significant improvement in DASH score postoperatively was observed.

Keywords: DASH score, finger contracture, full-thickness skin graft, post-burn contracture, range of motion

This article may be cited as:

Rehman WU, Ullah I, Farooq MM, Tariq M, Shah UA: Outcome of full-thickness skin graft in post-burn finger contractures. J Postgrad Med Inst. 2026;40(3):97-103. <http://doi.org/10.54079/jpmi.40.3.3976>

Introduction

Post-burn hand deformities pose a serious reconstructive challenge owing to the intricate anatomy of the hand and its crucial role in daily activities. Among these deformities, finger contractures are particularly disabling, as they restrict joint mobility and compromise the ability to perform essential tasks, including writing and grasping objects.^{1,2} These contractures lead to aesthetic deformity and diminished quality of life. Despite advances in burn prevention and acute burn care, post-burn contractures remain a significant cause of long-term disability in low-income countries, where delayed presentation and inadequate rehabilitation remain common.³ Burn scar contractures develop as a result of excessive wound contraction during the healing process. Deep burns are more prone to abnormal scar formation due to extensive destruction of the dermis.⁴ Fingers are particularly susceptible to contracture development due to their thin soft-tissue envelope and continuous movement.^{4,5} Flexion contractures are more commonly encountered than extension deformities and may involve the proximal interphalangeal or metacarpophalangeal joints. If left untreated, progressive fibrosis can result in joint stiffness and secondary skeletal deformities, making subsequent reconstruction progressively more complex.^{6,7}

Successful management of post-burn finger contractures necessitates the complete release of the contracted scar, followed by stable resurfacing of the resulting soft-tissue defect. The reconstructive approach selected should restore joint mobility, provide durable skin coverage, and achieve an acceptable cosmetic outcome.⁸ The choice of reconstruction is based on the size and location of the defect, the availability of donor tissue, and the functional demands of the patient. Full-thickness skin grafting has gained widespread acceptance for the treatment of post-burn finger contractures.⁹ A full-thickness skin graft comprises the complete epidermis and dermis, thereby preserving the normal dermal architecture, which results in improved elasticity and resistance to secondary contraction. Adequate release of scar tissue remains the foundation of successful surgical treatment.¹⁰ Complete excision of the contracture allows restoration of joint alignment and correction of soft-tissue tension prior to graft placement. Patient adherence to rehabilitation protocols plays a vital role in preserving the range of motion and maximising functional recovery.^{10,11}

Post-burn finger contractures can significantly impair hand function and joint mobility. Full-thickness skin grafting provides the durable coverage and greater resistance to secondary contraction. Evidence regarding its functional outcomes in post-burn finger contractures remains limited. The findings will provide locally relevant evidence regarding the effectiveness of this technique and may assist in selecting appropriate reconstructive options. Successful treatment may im-

prove hand function and cosmetic appearance while reducing the risk of recurrent contracture and further surgical intervention.

Methodology

This study was carried out in the department of Plastic surgery, Hayatabad Medical Complex, Peshawar. An ethical approval was taken from the Institution Research And Ethical Committee (Approval no. 2722). One hundred twenty nine patients were selected for this study using non-probability consecutive sampling. Sample size was calculated using openepi, keeping the following assumptions such as poor outcome 3.1% of full thickness skin graft in post burn finger contractures,¹² margin of error 3% and confidence interval 95%.

Patients aged 5 to 45 years of either gender, presenting with post-burn finger contractures were included in this study. Diagnosis of post-burn finger contractures was performed on clinical evaluation recording all of the following such as visible deformity, restricted range of motion, and tethering/tightness of skin. Cases of Grade I and Grade II contractures, non-burn-related finger contractures, uncontrolled systemic diseases, active infection, or cognitive impairment were excluded from the study.

All patients gave their informed written consent, while patients < 18 years of age, their parents or guardians provided the consent. Demographics and clinical details of the patients were noted on a proforma, such as age, gender, laterality of hands, McCauley Grade (III and IV only), and etiology of burn (flame, scald, electric, chemical). An incision was made using an aseptic technique over the contracture site and extended laterally on both sides to create a fish-tail appearance. The contracted scar tissue was carefully released until the adequate correction of the deformity and restoration of joint movement were achieved. A FTSG was harvested from the groin or upper medial aspect of the arm depending on size of the defect. The graft was appropriately trimmed and applied to the recipient site to ensure complete coverage of the released wound. The donor site was primarily closed, while the graft was secured with suitable sutures and dressed appropriately. The affected finger was immobilised using a Kirschner wire introduced through the pulp and advanced across the interphalangeal joint before placement of the graft at the recipient site, maintaining the finger in the corrected position during healing. Change of dressing was done on day 5 to 7. Graft take was classified as excellent (100% survival=complete graft take), good ($\geq 90\%$ survival), fair (70-90% survival), or poor ($< 70\%$ survival=partial graft loss or graft failure). Kirschner wires were then removed at three weeks, which was followed referral for physiotherapy, which included range of motion exercises, scar massage and night splinting. Functional outcomes were assessed at

three months. Range of motion was measured using a goniometer and categorized as excellent (> 90% of normal), good (70-90%), fair (50-70%) and poor (< 50%). The DASH questionnaire was assessed preoperatively and at three months.

SPSS 27 was used to analyze the acquired data. Age, preoperative and postoperative DASH scores were presented as median with interquartile ranges, after checking for normality with Shapiro Wilk test. Functional outcome for range of motion, graft uptake, post-operative complications, laterality of hands, McCauley Grade, etiology of burn and gender were presented as frequency and percentages. Confidence intervals were calculated for range of motion and graft uptake functional outcomes. Preoperative and postoperative DASH scores were compared using Wilcoxon Signed Rank test. Keeping p value ≤ 0.05 as significant.

categorical data. t-tests for normally distributed data, Mann-Whitney U tests for non-normally distributed data, and Chi-square or Fisher's exact tests for categorical variables were conducted for comparative analyses. A p-value of less than 0.05 was set to define statistical significance.

Results

The present study enrolled 129 patients, their median age was 24.00 years with an interquartile range of 14.00 to 34.00 years. There were 88 (68.2%) male patients and 41 (31.8%) female patients.

Table I presents the etiology of burn, McCauley grading and laterality of hands.

Post-operative complications presented in table no II.

The functional outcome was assessed using range of motion at three months post-procedure and graft uptake presented in table III.

The median pre-operative DASH score improved significantly after three months postoperatively ($p < 0.001$) (Table IV)

Discussion

Our observations aligns with several and national and international studies.¹⁴⁻¹⁶ Our findings of excellent-to-good range of motion in 66.7 % of patients and

Table 1. Clinical profile of the patients

Clinical profile		n	%
Burn etiology	Flame	68	52.7%
	Scald	43	33.3%
	Electric	12	9.3%
	Chemical	6	4.7%
McCauley Grade	McCauley Grade III	82	63.6%
	McCauley Grade IV	47	36.4%
Hand Affected	Right	77	59.7%
	Left	47	36.4%
		5	3.9%

Table 2. Postoperative complications

Postoperative complications		n	%	95.0% Confidence Interval
Infection	Yes	9	7.0%	0.034-0.122
	No	120	93.0%	
Hematoma	Yes	7	5.4%	0.024-0.102
	No	122	94.6%	
Hypertrophic Scarring	Yes	16	12.4%	0.075-0.188
	No	113	87.6%	

Table 3. Functional outcome

Functional outcome		n	%	95.0% Confidence Interval
ROM classification	Excellent	41	31.8%	24.2% to 40.2%
	Good	45	34.9%	27.1% to 43.4%
	Fair	28	21.7%	15.3% to 29.4%
	Poor	15	11.6%	7.0% to 18.0%
Graft take	Excellent	79	61.2%	52.7% to 69.3%
	Good	30	23.3%	16.6% to 31.1%
	Fair	14	10.9%	6.4% to 17.1%
	Poor	6	4.7%	2.0% to 9.3%

Table 4. Comparison of preoperative and postoperative DASH score

	N	Median	IQR	p value
Pre-op DASH score	129	60.00	54.00-66.00	< 0.001
Postop DASH score	129	23.00	16.00-45.00	
Wilcoxon Signed Rank Test used				

excellent-to-good graft take in 84.5 % are consistent with both national and international literature. Nationally, Fatima et al. reported excellent ROM in 49 % of paediatric cases treated with FTSG,¹⁷ while Haider et al. and Saaq et al. observed graft-uptake rates of 94 % and 95 % correspondingly.^{18,19} Internationally, Liang et al. achieved a 90 % excellent-to-good graft take with abdominal FTSG in paediatric digital and palmar contractures and comparative study demonstrated superior functional outcomes and lower secondary contracture with FTSG versus STSG. Similarly, series from Western and Asian centres consistently favour FTSG over STSG for reduced recurrence and better long-term mobility supporting the reliability of our results across diverse populations.^{20,21}

In this study observed that flame burns and scald burn were the predominant causes of burn injuries in the present study. Predominance of these burn mechanisms is likely due to high incidence of domestic and occupational accidents involving open flames, hot liquids and steam in low income countries where household safety measures may be inadequate. This consistency with existing literature supports the representativeness of the study population and highlights the continuing need for burn prevention strategies alongside effective reconstructive interventions.¹⁵⁻¹⁷ The slightly lower excellent outcome rate in the present study can be attributed to the inclusion of adult patients up to 45 years of age who are often presenting with longer-standing contractures and established joint stiffness that limits the potential for full correction. Sabapathy et al. in their study mentioned that in

paediatric burn contracture cases, full thickness graft can significantly decrease the recurrence rate of contractures and exhibits better functional outcomes.²²

The DASH score in the present study demonstrated significant improvement from a median of 60.00 (Interquartile range 54 to 66) pre-operatively to 23.00 (Interquartile range 16 to 45) at three months post-procedure ($p < 0.001$). This improvement is clinically meaningful and shows significant restoration of hand function. The reduction in disability scores reflects the positive impact of contracture release and resurfacing on patients' ability to perform activities of daily living. Kumar et al. also reported significant DASH score improvement following full thickness skin graft management of post-burn hand deformities, further validating the effectiveness of this intervention.²¹

Post-operative complications in this study were observed in a small subset of patients. Hypertrophic scarring was the most frequently observed complication, followed by infection and haematoma. Patients with hypertrophic scarring were managed conservatively and through steroid injections. Infections were treated with antibiotics and no patient required surgical intervention. Haematoma was managed with pressure dressing.

This study has several limitations. The three-month follow-up period was short, it could not assess long-term outcomes, including late recurrence of contracture and final scar maturation. Longer follow-up is mandatory to determine and validate the durability of the results of this study. The study did not take into account potential

confounding factor patient adherence with physiotherapy and patient's quality of life. The study was conducted in a single center, which may limit generalizability of the findings to other burn settings. These variables may influence outcomes and should be considered in future studies. The lack of a control group comparing full-thickness grafts with other reconstructive techniques limits the ability to draw definitive conclusions about the superiority of this technique.

Conclusion

FTG is associated with excellent to good range of motion in majority of the patients with post-burn finger contractures. The study also observed a significant improvement in DASH score postoperatively. Fewer complications were observed in this study, in which majority were managed conservatively.

References

- Sabapathy SR, Shanmugakrishnan RR, Shankar KNR, Muthukumar V. Management of severe post burns deformities of the hand. *J Plast Reconstr Aesthet Surg* 2026;121:25-34. DOI: 10.1016/j.bjps.2026.05.062.
- Son D. Correction of hand deformities after burns. *Arch Hand Microsurg* 2022;27(1):12-22. DOI: 10.12790/ahm.21.0131.
- Teshaev OR, Kurbanov GI, Jumaev NA. Microsurgical reconstruction of post-burn scar contractures: contemporary approaches and outcomes. *Eurasian J Med Nat Sci* 2025;5(5-2):36-44. DOI: 10.5281/zenodo.15600307.
- Sabapathy SR, Shanmugakrishnan RR, Hultman CS. Acute and reconstructive burn care of the hand. *Clin Plast Surg* 2024;51(3):365-77. DOI: 10.1016/j.cps.2024.02.007.
- Vosinakis C, Ippoliti S, Samoladas E, Haidich AB, Gamatsi IE, Smith L, et al. Effectiveness of hand reconstruction techniques for the treatment of postburn contractures of the hand: a systematic review. *Burns* 2024;50(9):107281. DOI: 10.1016/j.burns.2024.10.002.
- Wibawa W, Prasetyo AT, Riestiano BE, Soedjana H, Hara-hap RI. Clinical characteristics of hand and finger contractures in postburn patients: a single-center retrospective analysis at a top referral hospital in West Java, Indonesia. *J Hand Surg Glob Online* 2025;7(3):100718. DOI: 10.1016/j.jhsg.2025.02.011.
- Kang JW. Complications of hand fractures: strategies for prevention and management. *J Musculoskelet Trauma* 2026;39(1):1-11. DOI: 10.12671/jmt.2025.00304.
- Murtaugh B, Warthman R, Boulter T. Rehabilitation management of the burned hand. *Phys Med Rehabil Clin N Am* 2023;34(4):767-82. DOI: 10.1016/j.pmr.2023.05.001.
- Alsaif A, Karam M, Hayre A, Abul A, Aldubaikhi A, Kahlar N. Full thickness skin graft versus split thickness skin graft in paediatric patients with hand burns: systematic review and meta-analysis. *Burns* 2023;49(5):1017-27. DOI: 10.1016/j.burns.2022.09.010.
- Chiou TW, Yen CI, Chuang SS. Single-stage full-thickness grafting with a novel method for skin graft fixation for post-burn hand contractures. *J Burn Care Res* 2026;47(Suppl 1):S464. DOI: 10.1093/jbcr/irag033.534.
- Sadhu S, Prabhakar B. Study of post burn contracture of hand, surgical management and outcomes. *JK Sci* 2024;26(4):220-4. Available from: <https://journal.jk-science.org/index.php/JK-Science/article/view/310>
- Ayub A, Khundkar SH. Outcome of skin graft in postburn finger contractures: an integrated technique of evaluation. *J Bangladesh Coll Physicians Surg* 2009;27(1):25-9. DOI: 10.3329/jbcps.v27i1.4240.
- Hassoun A, Haroun R, Hoyek F, Lahoud JC, Tawk C, Mousa MEH, et al. Relation between the DASH score and radiographic evaluation of the wrist in patients with wrist fracture. *BMC Musculoskelet Disord* 2024;25(1):217. DOI: 10.1186/s12891-024-07307-2.
- Younas Z, Yousaf S, Mughal BA, Ahmad UT, Abbas MB, Shakoor S. Effectiveness of post-burn finger contracture release with 5-flap Z-plasty without graft. *J Bahria Univ Med Dent Coll* 2026;16(3):812-7. DOI: 10.51985/JBUM-DC202699.
- Weeks D, Kasdan ML, Wilhelmi BJ. Forty-year follow-up of full-thickness skin graft after thermal burn injury to the volar hand. *Eplasty* 2016;16:e21.
- Adil H, Riaz S, Tahmeedullah, Riaz S, Ayub S. Frequency and pattern of post burn contractures in children. *Pak J Plast Surg* 2025;13(2):55-60. Available from: <https://www.pjps.org.pk/wp-content/uploads/2025/12/final-1-hira-adil-article-Volume-13-Issue-2-Final-File-4-9.pdf>
- Fatima M, Ali Khan FA. Comparison of grafts in post burn contractures of fingers in children. *Clin Dermatol Open Access J* 2018;3(3):000153. DOI: 10.23880/cdo-aj-16000153.
- Haider SM, Khan AT, Shahbazi HK, Imran S. Efficacy of plantar glabrous skin grafts for release of post burn contractures of hand. *Med Forum* 2024;35(5):37-9. DOI: 10.60110/medforum.350508.
- Saaq M. Presentation and management outcome of burn ectropion with full thickness skin grafts. *Mirpur J Med Sci* 2024;2(1):5-10. DOI: 10.65433/mjms.v2i1.32.
- Liang H, Hu Q, Cai J, Li P, Shi J, Liu H, et al. Functional and aesthetic outcomes of abdominal full-thickness skin grafts in paediatric postburn digital and palmar flexion contractures. *Int Wound J* 2023;20(7):2718-25. DOI: 10.1111/iwj.14145.
- Kumar S, Khan FAA, Ali H, Kiran S. Surgical management of post burn hand deformities. *Pak J Med Sci* 2020;36(6):1387-91. DOI: 10.12669/pjms.36.6.2206.
- Sabapathy SR, Del Piñal F, Boyer MI, Lee DC, Sebastin SJ, Venkatramani H. Management of a mutilated hand: the current trends. *J Hand Surg Eur Vol* 2022;47(1):98-104. DOI: 10.1177/17531934211047760.

Authors' Contribution Statement

WUR contributed to the conception, design, acquisition, analysis, interpretation of data, drafting of the manuscript, and critical review of the manuscript. IU contributed to the conception, design, acquisition, critical review of the manuscript, and final approval of the version to be published. MMF contributed to the acquisition, analysis, interpretation of data, and drafting of the manuscript. MT contributed to the acquisition, analysis, interpretation of data, and drafting of the manuscript. UAS contributed to the acquisition, analysis, and interpretation of data. All authors are accountable for their work and ensure the accuracy and integrity of the study.

Conflict of Interest

Authors declared no conflict of interest

Grant Support and Financial Disclosure

None

Data Sharing Statement

The data that support the findings of this study are available from the corresponding author upon reasonable request.